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IMb C pacmeopeHuemM, KaKk C

KO=XUMU4YECKUM T1poyeccoM.
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310 ogHOpoAHas cUcTema, cocTosLas U3
pacTBOpuUTEns, PacTBOPEHHOIO BelllecTBa

1 NPOAYKTOB X B3aUMOOENCTBUS.
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[lpouecc pacTBopeHUs

e Du3nYecKuu : e XUMHUYECKUM:

Auddys3us, BblI/ICJICHUC UJIN
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XMUYeCcKoe B3aMoaeNCcTBUE C
PACTBOPUTENEM:
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PacTBOpHMOCTh 3aBHCHUT OT:

FpMpoab! BellecTsa

=« [ipupoabl pacTeopuUTens
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KoadpdpuumeHT pacTtBOPMMOCTU

3TO YMChO, NOoKasb |ee, CKOMbKO 1
rpaMMOB B€ pacTBopuUTbCH
B 100rB Temneparype.
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Tunbl pacTBoOpoB

No coaepkaHuto

PacTBOPEHHOrO
BellecTBa

MepeHacbIWEHHbIe —
HeHacbllWweHHble — cogepxar B
B-BO NPV AaHHOM Hacbiwenuble - acTBOpe
P oonbLe P P
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o [laHo:
m(p.B)=20r
m(p-nqa) = 180 r
w(p.B) - ?
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« PellieHune:
1. Paccuntaem m(p-pa)
m(p-pa) =m(p-ns) +m(p.8.)
= r +20r = 200r
vyny ona
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